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7057 | KM =Y 1 223 588 R S EIRAIN S
7058 | gKJm — A 2 357 1087 R S mibarNZ2
7059 | A =Y 2 223 953 i RIS
7060 | gkToR — Y 2 0 730 R BRI
7061 | 5 — 1 0 445 R SR BRI
7062 | BRI — A 2 134 864 RS EIRAIN S
7063 £ S — A 4 491 1951 R S mibarNZ2
7064 | HEE =Y 1 134 499 i EibaMNES
7065 | BRI — Y 1 223 588 R BRGNS
7066 | BXE AN — A 1 0 365 R S BRENZS
7067 il — A 1 223 588 R S BENZS
7068 +F = 3 357 1452 R S BENZS
7069 | KM =AY 2 223 953 R S TFERANES
7070 | kS — Y 2 223 953 RS FEREANES
7071 | BXIELL — A 2 223 953 RS FERANES
7072 | S RAF — A 2 268 998 RS FERANES
7073 | AR =AY 2 268 998 R S T RiaN &L
7074 | gk =AY 1 134 499 R S FERANES
7075 | FFLEF =AY 4 357 1817 i A Tr R b &2
7076 | BEHE — A 2 134 864 RS FERANES
7077 g =AY 1 0 365 RS FERANES
7078 | MR =AY 2 223 953 R S TR &L
7079 | BRH =14 3 0 1095 R S TFERANES
7080 | FEE — A 1 134 499 R NS
7081 | mKH =Y 2 134 864 b NN
7082 | FTEE — A 1 134 499 i ARMES
7083 | FAEHh = 2 134 864 b NN
7084 | EEE =% 3 357 1452 i S NIRRT
7085 | H G =Y 1 0 365 b NN
7086 | XAl — A 1 134 499 b NN
7087 | xIF)F — A 3 134 1229 i NN
7088 | 5l% = 2 134 864 i NN
7089 | mEifiES — 1 223 588 b NN




7090 EvE =Y 5 491 2316 i NN

7091 | FEPIER = 2 268 998 R S I HMNZES
7092 | FiHE =Y 4 491 1951 i I HAMNES
7093 | AAfkZ — A 3 402 1497 R I HMNZES
7094 | okl =Y 3 134 1229 R SR Iz HMNZES
7095 | FikE — A 2 134 864 R S Iz HMNZES
7096 | TR =14 4 357 1817 R S I HIAN RS
7097 | X7k X — Y 4 491 1951 i I HMNZES
7098 | I EbR — Y 1 223 588 R Iz HMNZES
7099 | S =Y 1 223 588 R S Iz HMNZES
7100 5K I =Y 4 491 1951 R S Iz HMN S
7101 | FiGE =AY 2 134 864 R S I HAMNZES
7102 | HHEoL — Y 1 0 365 i I HMNZES
7103 | F/F — Y 1 223 588 R Iz HMNZES
7104 | xiyg 0 =Y 2 134 864 R SR Iz HMNZES
7105 | FHEF =Y 2 223 953 R S Iz HMNZES




